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hairetsu.f(

PROGRAM HAIRETSU

INTEGER 1,J,A(2,2),B(2,2)

DO 10 1=1,2

READ(*,*) (A(1,J),J=1,2)

CONTINUE

DO 11 1=1,2

READ(*,*)(B(1,J),J=1,2)

CONTINUE

WRITE(*,*) "ARRAY A"
D0 20 I=1,2
WRITEC*, *)(A(1, ), J=1,2)

CONTINVE

WRITE(*,*)"ARRAY B"
Do 21 1=1,2
WRITEC*, %) (B(1,J),J=1,2)

CONTINVE
STOP
END

SUBOUT(A)

SUBROUTINE SUBOUT(X)

INTEGER X(2,2)

DO 20 1=1,2
WRITEC*,*)(X(1,J),J=1,2)

CONTINUE

END

(3)Advance
(4)Advance

ACL,1)
ACL,1)
ACL,1)
ACL,1)
COL(1)

ACL,2)
ACL,2)
ACL,2)
ACL,2)
COL(2)

ACL,3)
ACL,3)
ACL,3)
ACL,3)
COL(3)

A(1,4)
A(1,4)
A(L,4)
A(1,4)
COL(4)

ROW(L)
ROW(2)
ROW(3)
ROW(4)
SUM

Info/030702

2003/7/03

hyoukeisan.f



(1)Y=AX+B

PROGRAM TESTFUNC
PARAMETER(M=20)
REAL A,B,X(M),Y(M),FUNCL
INTEGER 1,J
WRITE(*,*)"ENTER A,B"
READ(*,*)A,B
DO 10 I=1,M

X(1)=0.1*1

10 CONTINUE
DO 20 1=1,M
WRITEC*,601)X(1),Y(1)
601 FORMAT(2F7.3)
20  CONTINUE

STOP
END
c
REAL FUNCTION FUNCL(A,B,X)
REAL A,B,X
RETURN
END
) 4/ (1+x%)
(7/16)
€))
(
0 2 2
©) 3
A) 1700 30 /
B) 30 3200
0) 60

profile._txt(

X=0.1 2.0

(sort)

15 7/
70 7/ 60
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A,B,X(1)

20 /



